
              
       ,        
           

1.      ?
(a)  (b)  (c)  (d) 
2.      ?
(a)  (b)  (c)  (d) 
3.     ?
(a)     (b)  (c)  (d) 
4. ‘ ’     ? 
(a)   (b)  (c)  (d) 
5.      ?
(a)   (b)   (c)   (d)  
6.   ........
(a)   (b)   (c)   (d)  
7.     ?
: : : 
(a)  (b)  (c)  (d) 

8.    1210        

       ?

(a) 550  (b) 560  (c) 650  (d) 660 
9.    ?
(a)  (b)   (c)  (d) 
10.      ?
(a)  (b)  (c)  (d) 
11.         
     ?
(a)  (b)  (c)  (d) 
12. ,   60%    ,  
20%       5,000  ,   
     ?
(a) 28%  (b) 22%  (c) 20%  (d) 27% 
13. -     ?
(a) ,  (b) ,  (c) , 
(d) , 
14.      ?
(a)  (b)  (c)  (d)  
15.   ?
(a)  (b)  (c)   (d)  

16.      ?

(a)  (b)  (c)  (d) 
17.   ‘  ’  ?
(a)  (b)  (c)  (d) 

18.          ?
(a)  (b)  (c)  (d) 
19.        ?
(a)   (b)   (c)   (d)  
20.       ?
(a)  (b)   (c)  (d) 
21.       ?
(a)   (b)   (c)   (d)   
22.      ?
(a)  (b)  (c) -- (d)  
23.     ?
(a)  (b)  (c)  (d) 
24.      ?
(a)  (b)  (c)  (d) 
Directions (Q 25-29): Fill in the blanks with proper

prepositions.  

25. When we get ready for dinner, I have to take my

books .............. the table. 

(a) off (b) from (c) out (d) of 

26. Every weekend, we put the trash can ......... for

garbage collection. 

(a) up (b) at (c) into (d) out

27. You have to leave your shoes ............. the door when

you enter the house. 

(a) in (b) over (c) to (d) by 

28. It was a long walk, so he began moving slowly ........

the town.

(a) for (b) towards (c) until (d) at 

29. Rahul apologised ............ his brother's poor

behaviour. 

(a) for (b) in (c) off (d) at 

30.        ?
(a)   (b)   (c)   (d)  
31.      ?
(a)  (b)   (c)  (d) 
32.     ?
(a)   (b)   (c)   (d)  
33.     ?
(a)  (b)  (c)  (d) 
34.       ?
(a)   (b)   (c)   (d)  
35.      ?
(a)   (b)   (c)   (d)  

   



36.          ?
(a)   (b)   (c)   (d)  
37.         ?
(a)   (b)   (c)    
(d)   
38.       ?
(a)   (b)  (c)  (d) 
39.    ?
(a)  (b)  (c)  (d) 
Directions (Q 40-44): Out of the four alternatives,

choose the one which best expresses the meaning of the

given idiom/ Phrase.

40. At the eleventh hour. 

(a) At eleven O' clock (b) At the wrong time (c) At the last

possible moment (d) At the initial moment itself

41. A bolt from the blue.

(a) A delayed event (b) An inexplicable event (c) An

unexpected event (d) A sudden and unexpected event

42. Cold comfort 

(a) Absurdity (b) Deception (c) Slight satisfaction 

(d) Foolish proposal

43. Keep a good table

(a) To have an artistic taste (b) To throw a party (c) To be a

host (d) To be extravagant

44. Lump in the throat 

(a) To be hoarse (b) A highly emotional state (c) Food of

low type (d) Wind-pipe

45.         
  ?
(a)   (b)    (c)    
(d)    
46. ‘  ’   ?
(a)    (b)   (c) 
(d)    
47.      ?
(a)  (b)  (c)  (d) 

48.     ?
(a)  (b)   (c)    (d) 
49.    (  )   ? 
(a)  (b)  (c)  (d) 
50.      ?
(a)   (b)   (c)   (d)  

ANSWERS

1. (d) 2. (c) 3. (c) 4. (d) 5. (a) 6. (b) 7. (c) :  
     ,     8. (d)

:        

∴ ‐  = - 

∴  :  = 5 : 6 ( )
  (5 + 6) = 11.   = 1210 

∴    1250   = 660 

9. (b) 10. (b) 11. (d) :      
       12. (a) : 
 = 5000 
,      60% 

,   = 

,      20%  

, -  =  =

= 6250 
,     

% = = 28% 

13. (b) 14. (b) 15. (d) 16. (d) 17. (d) 18. (d) 19. (b) 20. (b)

21. (a) 22. (a) 23. (b) 24. (a) 25. (a) 26. (d) 27. (d) 28. (b) 29.

(a) 30. (a) 31. (b) 32. (a) 33. (c) 34. (a) 35. (c) 36. (c) 37. (c)

38. (d) 39. (c) 40. (c) 41. (d) 42. (c) 43. (c) 44. (b) 45. (a) 46.

(a) 47. (c) 48. (c) 49. (d) 50. (b)


